Bo=3$Ry . RS+ .80 s 30+ 0cos '455# mm
®=RITRY  R- /(66 97 + r132 4) 148 N - Ans
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R, | 559

My = SED] MQ =140 - 50(5 + so cos 45"(4}_ - bﬂ sin 4@0(?)
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 Ans. Q2 #5 marks LR x

F,=0

100 cosa + 150 cos(cx + 30) =z 200 cos a

cos(a: 4 30) =cosa cos 30 —sinasin30

100 cosa + 150 (cosacos 30 ~ sina sin 30) = 200 cos a

' 10-0coso:+150‘ ——COS'O:'H —sina =200005-a: b

E o =
Divide by (cos @),

100 +.50 (2 + Jtana) =200  sa= °. # 3marks




" R= E, =100sina + 150sin(a + 30) + 200sina
% f.'_.SIIibS.’[itute fora =*+ ° | . .

R.= F, = 100sina + 150(cos a cos 30 + sin a sin 30) +200sin@ =+ N
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A“S':-FQ14 ; # 5 marks

For Equilibrium position : Fy = 0 ,Fy=0 -,

Tcp cos 20° = T¢zc05 40 N
T =Tea%0.77/0.94 N

F, o= 0
TCB sin 20° + TCAsm 40 == 200 X9,8N
TCB % 0. 34—+TCA X 0.64 = 200 X9,8N : ....'..._...equ.' 2

Solving of the two equs, gives Tcg Tcainequ 2 :

 Tep X 0.34+ T, X 0.64=200%x9,8N
[(C % 0.77)] x 0.34+](0.64T¢,) =9.8 X200 N
TCA = xx% N _ R i # 5 marks
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Q-2: Resultant of Several Concurrent Forces2D Concurrent forces (5 marks)
Q-4: Equilibrium of a Practice- Free Body Dlagra.m _ ‘_%m Lectunee " (5 marks)
. Statis of Ripid Pntictes 2D and 3D: (5 wacks, 6 s ) e
Q-1:The force-couple system-ZD—Concuﬁent forces- Rigid bodies (5 marks)
Q-3: The force-couple system 3D- Rigid bodies - "Three Lectunee” (S5 marks)
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